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(1) signal-to-noise ratio(SNR)
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(2) peak-signal-to-noise ratio(PSNR)
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Signal To Noise ( SNR)

double SNR( unsigned char *original, // The original image
unsigned char *result, // The reconstructed image
unsigned int width, // Width
unsigned int height) // Height

unsigned int i, j;

double SumOfSquareSignal = 0.0, SumOfSquareError = 0.0,Error;

for (1 =0 ; i < height ; i++ ) {
for ( J =0 ; j < width ; j++ ) {
SumOfSquareSignal += original[i*width+j]* original[i*width+]j];
Error = original[i*width+j] - result[i*width+3j];

SumOfSquareError += Error * Error;

}

return 10*1ogl0 (SumOfSquareSignal / SumOfSquareError) ;

double PSNR( unsigned char *original, // The original image
unsigned char *result, // The reconstructed image
unsigned int width, // Width
unsigned int height) // Height

unsigned int i, j;

double SumOfSquareError = 0.0,Error;

for (1 =0 ; i < height ; i++ ) {
for ( J =0 ; j < width ; J++ ) {
Error = original[i*width+j] - result[i*width+3j];

SumOfSquareError += Error * Error;

}

SumOfSquareError = SumOfSquareError/ (double) (width * height) ;

// Assume maximum 255

return 10*1ogl0( 255*255 / SumOfSquareError) ;
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